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Activity: Vertex Form

1. Each function in the first column is written in standard form. In
the second column, each function has been rewritten in vertex
form. Use multiplication to verify that the functions in each row

are equivalent.

Standard Form _b Vertex Form h
y=ax?+bx +c 2a y=alx—h)?+k
y=x2—4x+4 y=(x—2)2
y=x2+6x+8 y=(x+3)2—1

y= —3x2—12x— 8 y=—3(x+2)2+4
y=2x2+ 12x+ 19 y=2(x+3)%+1

2. a. Patterns Copy and complete the table.

b. Compare the values of —-2% and h in each row. Write a formula

to show the relationship between __st and h.




